3054

%

1596

300

1046

[

1218

! 120 1074 ?‘J‘
\ \ [
= a. e 3=
1074
Ramp Dn. to Basement floor—-| é
] ]
o~ g
2
120
] ]
Shop
z 930 X 1596 [ 144 Break-to-open glass
= <
£ 1728 Sa.ft T =
e R=18"— 33
- [{T=15 Dn [ T
g 2\ = g
2 Nt
LadiesD2 / - S
Toilet -
7] U= =
D1\ > 8
- 120 =
4 = 3
930 p1 \  Gents Toilet > -
D2 [ D2[] D2 o=
I 1] ) D | = =
— L
) &|Up1
a Up— (% Corridor ﬁi 190 e ‘ s
T‘——viiffiiiiii Dn H [ 1]
J] 1| /| = = /| ‘ 1 = = = 1|
3826 x 1086
4472 Sq t
— nl RS.4 [l RS.6 [l RS.6 [l RS.6 [l RS.6 [l [l RS.6 [l RS.6 [l RS.4 I

i
|

Ground Floor Plan

1086

1110




